HW 4.6(a) Key

1. Let X be a continuous random variable that follows a gamma distribution with a mean of 28 and a variance of

196. Calculate P[X < 18.2].

[A) 02640 B) 02157 ) 02318 D) 02479 E) 02801
- - 7'; ( z - e - =
F&-Nﬁ-l? lox > f = |QAw > /£7)D<L/
) 3 ~%x[7
X:L’(\ - 7‘4(0} X =
L =T
) 122 ik A
Plx< 2] = SO £ 4% A IENINEN
o L2 I b
- b 4 =T &
Toexinf x> 42 X, \] z
= L@_ <(,,-71 Tz T \ 18.2 + % -5 o x17
o \ _X[7)
e
2.6 '
= |- e (2920\33 2R T a)) = o *

= 1 0.2¢ 4O

<
2. Let X be a continuous random variable that follows a gamma distribution with a mean of % and a variance of

8. Calculate P[X >33.6|X >18.6].
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3. Let X be a continuous random variable with probability density function given by f(x) =KX 22 e —hx . Given

that the mean of X is 16.96, find Var[X].
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4. Let X be a continuous random variable that follows a gamma distribution with & = 2 . Given that
P[X >17.98]=4.1e ! find E[X].
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> Let X be a continuous random variable with probability density function given by f(x) =156.645x" ¢ **

where n is a positive integer. Given that the mean of X is 1.76, find Var[X].
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